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mi = B0A + BPi + ηi9L�:
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me
i = (ρ-λ) mi-1+ λme

i-1 + (1-ρ) B.A9��:

λ
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P = V ( M / Y )9�:

µi(t)

πt

π (t) = C + C  µi (t)9;:

π (t) = C + C  µi (t-1)9E:
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∞ i m2
i

Wi = Σ β [ A (mi - me
i) -         ]

i=0 2

mi = 0 , me
i = 0 � Wi = 0

∞ i 0
mi = 0 , me

i = A � Wi = Σ β [A (-A) -    ] 
i=0 2

∞ i
=-A2 Σ β � -A2 if β=1 

i=0 

∞ i A2
mi = A , me

i = 0 � Wi = Σ β [A (A-0) -     ] 
i=0 2

A2 ∞ i +A2
=      Σ β � if β=1 

2  i=0 2

∞ i A2
mi = A , me

i = A � Wi = Σ β [A (A-A) -    ] 
i=0 2

A2 ∞ i A2
=-      Σ β � -     if β=1 

2  i=0 2
mi

2
Wi = A(mi - me

i) -  2

mi = 0 , me
i = 0 � Wi = 0

A2 3
mi = 0 , me

i = A � Wi = -A2 -      = -     A2
2        2

A2 A2
mi = A , me

i = 0 � Wi = A (A-0) -      =
2      2
A2 A2

mi = A , me
i = A � Wi = A (A-A) -      = -

2        2

U = - ( m - me)2

mi = 0 , me
i = 0 � Ui = 0

mi = 0 , me
i = A � Ui = - (0 - A)2 = -A2

mi = A , me
i = 0 � Ui = - (A - 0)2 = -A2

mi = A , me
i = A � Ui = - (A - A)2 = 0
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����C������

����C������

a) Xi = A + Pi A > 0 

b) Pi = ρ Pi-1 + Vi 0 < ρ < 1

c) Vi ∼ N(0 , σ2
v)
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